D0 MYRID/T VPRI ORI 7210 noon M AT TIOY Y BT

6.4.5
47a (an 5@ »pw1a jpr D2I9IN 21 17R) D 48a (12205 ANHY PRY)

7,07 72702:09WRI DI90ONI YD) DPR? 07197 DIPIVN DHMM
3,02 72702:009YRY DIIVNI D'VIDY) D’KY D197 DI DO

75,07 1702:30PN RY N72Y NIRYN Y2 17 0N NIXY OPRYD DI

7,0 07227 PZ0RY M2 A2 M 12 PIOR ‘N AN R DIPRI NI NYYM
£, 07727 :NIRIN YYD RS PIIDR 'NY NIYY »2WD 0P NiXn YaRR DN NYY

2, a7 PIIDR N 097 DNBYM PHOR 1297 IAMIM ‘N %Y NHN TWR TR 19 YR DR NRID MDY

7,0 0727 PR ' NATA 2297 INMNY TR0 X190 105D NP

5,r ¥777:'01 0199 NONN INR 10 NIND NR PRPD NI OY 2900 DR P12 OWR NR NPRAR Y

0,0 772709 TR DY) T NYYH 793 NN Y33 PAYR N 112 02 1 N IR DIPpRI TIOR "7 ANn D npIvy

L pnv 'v’s ruling re: nt on "W vs. (no) it on Noa YV PV
a.  Proof (xnm 92 7577 OR N2 72 8017 77): IRy 10V is distinct from days beforehand in 3 ways:
i. distinct: n210, 299, DN TON
1. note: according to nTi "7 (ahead, v MWN), NN N1 was all 8 days — only 2 differences
b. challenge: noa Yv »» 1w is also distinct from days beforehand —no nan of n¥n nvK
i. answerl: that is only distinct from the first night, not the days; n1xy »»nw is distinct from days before
ii. answer2 (x1227): y"nw is distinct from days immediately prior; noa bw 't distinct from 1¢t day (1712 »4a%)
iii. Answers 3-5 (97, »”217and »wx *7): wording in v3 727101 different from 7 days (vv. 1-3)
c. Proposed support: dispute mnan/nmi 7 whether n»a are mutually interdependent ("Rt 1720pn)
i. Amm /7 not 19yn, since their numbers change each day
ii. ppom: all of them diminish on 8" day (lambs: 14->7; rams: 2->1)
1. Amar 77 8this a H» of its own; just as 7 days have n»9 n31a vw j2p
a. Similarly: 8 has its own nr% 1372 ,7v 1279
i. Assumption: "n372” refers to 12Nnw
ii. Rejection: refers to NN N372) NYan (reference to day in XN nYY?)
iii. Support: there is no jn1 each of the 7 days —just on the 1t day
1. Block: if he didn’t say it on 1% day, says it later — through 7 days
2. Challenge: require ©13
3. Note: this may suppot 11 — may be said even pywa (w/o 013)
4. Argqument: we don’t use a v13 each day

a. Block: could mean —if he had a o1...
II. Tangential discussion: Clarifying nT’ *1’s position on the requirement of N1 on y"nw

a.  Challenge: Rn»72 — N " argues that there is no obligation of n1% for »w noa
i. Source: vv. 4-5 (v. 4 is source for n1Y; conditioned on v. 5 — only when there is nww mxn)
ii. Assumption: this applies as well to y"nv
1. Rejection: applies only to 2w noa — contrasted with nwr1 noa (the context of vv. 4-5)
2. Support: T7:2 ©N1 — DN’ require NPHY NN VY 12
a. And: nmn "1 is the author of the position that 11272 require nann (from v. 6)

b.  Block: perhaps it is a3, who infers from vY71::77n (vv. 7-8) m M3 require nann
b. Conclusion: of discussion re: an HYw »mwa Nt

277 we recite 101 ( nWW "7 disagrees) — n3%n
1. Support: Rm»12 - 1nVY is an independent Y31 for 2P 119
a. And: the 1 stands for jnr
III. 11 mwn: vy 590 (picking up from & nwn) — both apply all 8 days
a. Teaching: we are obligated to recite 557, rejoice and honor the last day just as we do the first 7
b.  Source: v.9 —nnw IR extends to last night (night after end of M)
i. Challenge: perhaps it extends backwards to first night?
ii. Answer: the word & divides — and we incline towards extending it last night
1. Reason: there is nnnw beforehand; as opposed to first night (1199 nnnw PR)
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